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Finding a Fraction of a Quantity
Let’s recap how to find a fraction of a quantity P7!
For example, if we want to find out what 4/5 (4 fifths) of 15 is, we first need to divide 15 equally into 5 groups, see below. 
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We can see that 15 divided into 5 groups is 3. We then need to find out what 4 of those groups is worth P7! We can figure that out by doing repeated addition (3 + 3 + 3 + 3), or by doing a times table calculation (4 x 3). 
So 4/5 of 15 = 12.
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Let’s have a look at one more example to help us P7!
For this next question, we want to find out 5/6 (5 sixths) of 24. So firstly 24 has be shared equally into 6 groups.
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See the next page for task 3.


Task 3
Have you felt reasonably confident with the questions so far?
[image: ]If so have a bash at these!
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So we have: Ysof24=(24+6)=4

Once we have found out /s of 24, our next step is to find five-sixths of 24.
All we need to do is add together five of the sixths or the number of 4s that have been shaded.
We finally end up with:

S/eof2d=4+4+4+4+4=20 OR 3/s0f24=(24+6)x5=20
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Use the fraction strips below to help you find these fractions.
1) Find ¥y of 21

21
T[] x]<x
7 7 7 7 7 7

170f21=21+

Y70f21=(21+7)x3
2

Find /3 0f 36

36

L L
3

Y30f36=36+
/3036 =(36+3)x2

3) Find /s of 45
a5
L L ES ES
s 5 5 5
/5 0f45=45 +

/5 0f 45 = (45 +5) x4
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Use division and multiplication to help you find these fractions.

1)s0f30=__ 2)7/s0f30=__ 3)%50f30=__
4)fsof 24=__ 5)/sof24=__ 6)'/wofd0=__
7)7/of40= __ 8)/s0f 18=__ 9)%/s0f18=__
10)'/s0f80=__  11)%s0f80=__  12)'s0f30

13)%s0f30=__  14)/s0fa5=__  15)%s0f45=__

16)Y/70f42=__ 17)'fr0f42=__ 18) /s of 36
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1)7/50f186 = 2)7/s0f 186 = 3)%of 368 =
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13) Captain Salamander is out fishing. He manages to catch a total of 335
fish in a single day. But %/s of the fish manage to escape while he is not
looking. How many fish escape? How many are left?
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